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21. ANTIDERIVATIVES (25/11/2021)

Goals.

(1) Idea of inverse operation
(2) Antiderivatives by massaging
(3) Antiderivatives of sums
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Math 100 — WORKSHEET 21
ANTIDERIVATIVES

1. WARMUP: INVERSE OPERATIONS

(1) (Multiplication)
(a) Calculate: 7 x 8 =776
(b) Find (some) a, b such that ab = 15.
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(2) (Trig functions)
(a) Calculate: sin§ = \@‘)L
(b) Find all 6 such that sin 6 = 1.
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(3) Simple differentiation »
(a) Find one f such that f/(x) =1.
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(c) Find the f such that f(7) = 3.
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2. ANTIDIFFERENTIATION BY MASSAGING
(4) Find f such that f'(z) = 227
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(5) Find f such that f( ) = _l
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(6) Find all f such that F!(z) = cos 3.
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3. COMBINATIONS
(7) (Final, 2015) Find a functlon f(x) such that f’( ) =

Smx+\/—and f( ) = o 'ﬁhfaa
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(8) (Final, 2016) Find the general ant1der1vat1ve of f(x) =
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(9) Find f such that f/'(z) = 6r" 209
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(10) Find f such that f/(x) = 22'/3—272/3 and f(1000) =
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(11) Find f such that f”(x) = sinz +cos =, f(O) = 0 and
F1(0) =
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